1a). Derive an expression for the transfer function 

 of the circuit below (assume that no current flows to the output terminals AB).
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1b).
State whether the circuit can be made to produce an output signal with zero phase shift. If a zero phase shift is possible, describe the conditions under which it occurs.

2a). Calculate the Thevenin's equivalent e.m.f. and impedance as seen between terminals AB (assume C2 is the load at AB).
2b). Using the Thevenin's equivalent circuit derived in Part a. above, calculate the voltage VOUT.
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